
PAGE 1OF6

Glebe Ensemble Base-Queen 



M6*35 BOLT

4PCS

27PCS

22PCS

35PCS

10PCS

2PCS

36PCS

M8*15 BOLT

54PCS

16PCS

1PC

M8

I

J
K
M

PAGE 2OF6

(1)X2PCS (2)X2PCS (3)X4PCS
(4)X2PCS

(5)X2PCS (6)X4PCS (7)X4PCS (8)X1PC

(10)X1PC(9)X18PCS

M6*20 BOLT

(11)X2PCS



1

2

3

6

7

8

10

9

10

A

16

E

E

E

E

E

E

E

E

B

C

E

D

G

E

B

12

17

2

9

A

EB

A

C

D

G

D
G

C

E

C

E

1
7

8

7

DF

A

AA

12

1

36

15

B

B

BC

F
G

I

B

B

D

5

E

G
F

5
7

7
5

E

E

J

H
K

12

13

c

c

c

X2

C

E C

C

PAGE 3OF6

X2

X2

1

2

A

C

E

E

A
C

4

5

3

3

A
C
E

M6*20 BOLT

M8
1PC

8PCS

8PCS

A
C
E

M6*20 BOLT

M8
1PC

8PCS

8PCS



6

3

4

5

1

2

3

↖

↖



PAGE 5OF6

8

11

7

DC

A

C

B

C

E

E

E

A

C

A
C
E

M6*20 BOLT

M8
1PC

4PCS

22PCS

D
B 2PCS

16PCS

A
C
E

M6*20 BOLT

M8
1PC

16PCS

16PCS

M8*15 BOLT

M6*35 BOLT



PAGE 6OF6

↓

9

10
10


	页 1
	页 2
	页 3
	页 4
	页 5
	页 6

